A & 0ol & AF S H Al A

oF
K

ok
0J

PN =] I:}dj";}
210 ZAAAN A=
211 THAHU O ==&

oTT 1
200 Mol

A

Dk K0 7 70

Tzl |83 = | & 318 88|83 8383
NN |e|aa AR © | © AR AR it Bt By
N Rl g2 8|8 il FIS|H|R |0 |e
(O Bl I I I I I [l I N R Rl A<«
E|
o
N3z lx2 |83 5| & 818 (818 |° SARA RS
F |eln|e|®|o|C I S| S |2 |® el el !
I 1212|557 5|3 NN 2 Y| S|8|8
wh/._z —
H
)
&l
JBEEIEEE EEEEEEEHEEEE B EEE
T |38 |8 &la — & B|F|L|F Q= || T
<
=3
é al
0 o @ w T
S R R
A ol H 2 w Ul
. i <k m@ B0
R0 o 0y = Bl A w X
woony < A0 KI0 ur =< m < =
= = 00 W <k - z A wlK @S
a2l |% = 0 T = ol 3 Bz o g
ol|al | X X T g G U T B I
s B g5 L WMo 2 W uo (Mo |2 T |K|[H|T T U
ﬂmzoséma_zAT@a aimjﬁgzleE
< | ol Tl T o2 ol Ki | T |l [WH[= [ <]
ol [RM| | Afop| @ W ®i< |5 O WS MW 5
o |[=|L O|l=x|d O O|+|s Olm|A|m|L Ol-|=<|£ O O
Aol [0 | —|& RN o & K| |—|© T =8
%M.mm N N Hlo|b Sk
[aV] Ye) Yo}
o | 8 g
K0




H & 0l & AHS B Ml A

SN BRCA

Hu: AYHEEAZ 29
Rl NESSH s IR TAS 88 (SH9 H2)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
SREA2 1,879,640 2,167,560 A287,920
= 48,600
T 17,180
Al 1,813,860
ANEHEEAZ 29 1,075,225 1,090,692 A15,467
& 2,600
Al 1,072,625
NFESH FHE IR A2 29 335,4% 451,182 A 115,686
T 2,600
Al 332,8%
SETAME AIAE 29 248,886 356,612 A107,726
201 B2 AY| 248,886 301,612 AB2,726
01 A=R2teld| 244,164 296,890 AB2,726
OMEY AblA 2
168,000,000 * 14! 168,000
O=Ust=X A2 gAMHIA ML (0BPia)
=E 11,000
OSBEHZ ALY RX22 10,449
~NBEHZ R AAS(LTA) 2K
22| 70,000, 000%12%+1/4& 2,100
—JIEANAE (B2 A22) SX2e
69,572,000 *12% 8,349
OSgT A2 SHOIXI |XlI22|
126,260,000 *14% 17,677
OSet=M2 SHOIX 221213 AdlA 0]
=3 55,0002 x12& 660
Ot T A2 AAE X222
47,054,000%*13% 6,118
O7=8 XM QULILE AIE 30,260
2 S==29| 4,722 4,722 0
OEAMZ UERZ &l =Xl
59,020,000 8% 4,722
SMS0e] 2K 10,400 11,900 21,500
201 L2 AY| 1,500 2,000 AB500
03 At2ZH] 1,500 2,000 AB00
O=AMS0tel |25 500,000 *33] 1,500
307 212+01™ 8,900 9,900 21,000
02 QIZHBAAIE E R 4,800 5,400 AB00
O=AMs0tel =4l XA
300,000 =16+l 4,800
04 QIZIHAIAISE E X 4,100 4,500 A400
O=SANSOotel H3E Y2t
4,100,000 *1&HX| 4,100
SAEIE 28 FA(KAMAIY) 7,400 9,500 22,100
201 L2 AH| 7,400 9,500 22,100




SN BREAB

. ANEHEZAZ 29
=
= 7

ciel: NATEX GyS JIes THB 29 (choy: @2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 At2t2ltl 1,000 2,000 21,000
O=AEE 25 ot 2 MH
1,000,000& %12 1,000
03 A= I 6,400 7,500 1,100
OSAEE /38 IM=E
500,000 x1 =23 1,000
OO0t |AEE Z28 29 5,400
SARE 28 FU(ZHIEX) 60,000 63,500 A3,500
= 2,600
Al 57,400
201 Let=23 | 60,000 63,500 A3,500
= 2,600
Al 57,400
01 AtR2te|HI 60,000 63,500 A3,500
SAEE 220 RS A 72
10,0002 22 +3,000H 60,000
== 2,600
Al 57,400
KXz ofztold =& 8.810 9,670 A860
201 er23| 8.810 9,670 A860
01 At2tltl 1,850 1,500 350
OXNgktg =& 243t 1,850
-XE4SY E22E M
5,0002 100K 500
—XNE2st T2 U= HE
15,0003 90 1,350
03 Ar=EHI 6,960 8,170 1,210
OXY=2s T2 24 6,960
—ZIAN =& 370,0003 63| x32 &t 6,660
-28 =8 7¢ 150,000 *23] 300
2ots2t 9E 25 97,500 188,680 291,180
SHE ANE72el 2,400 17,704 15,304
201 223 2,400 12,704 10,304
01 At22t2lt] 2,400 7,664 Ab,264
OAWA AE AE MEHI
8,000& x3004 2,400
gdstisdn 29 95,100 170,976 AT5,876
201 Ler=23 | 93,300 168,4%6 AT5,196
01 At2teltl 2,820 4,096 N1,276
OARES bl 300,000 12 300
OZzt E2= MM 630,000 *4= | 2,520
03 A2 I 90,480 162,000 AT1,520
OZAL =& 90,480




2A:

Ho: AQHECAZ 29
el EotEd 9E 3 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
EEIETE
65,0003 x12F=+22 2 Et+42 D | 68,640
Orst
35,0002 x12F=* 132 Zt+4=2 )| 21,840
203 =] 1,800 2,000 A200
03 A=A 2= 1,800 2,000 A200
OEAZ2E AHFIHIFAH 1,800
ME £9 SH Z28 243 15,130 61,374 AN46,244
SNAUEES 15,130 54,750 A39,620
201 er23| 11,530 49,810 38,280
03 A2 b 11,530 44,560 33,030
O=HAL(THBFH SN2 4,130
~ZO} £F AALY 500,002 43| 2,000
—SHolY, TAB FAMALEH|
450,000 *42] 1,800
-9 M 55,0003 *30H*22] 330
OSdzt 228 23 7,400
—ZIAE 200,0002*332 6,600
—-&H=23 78 200,000 *43] 800
202 04| 2,400 3,000 2600
01 =LHO LI 2,400 3,000 A600
28 R4 ol 300,000 ~8% 2,400
301 EtE N = 1,200 1,940 AT40
4 IIEt2 83 1,200 500 700
OSNS OIHIE &3
10,0002 %108 %123 1,200
o el Eelgt &3 &4 627,099 389,456 237,643
U2d 2(ERZM2) 217,756 48,085 169,671
201 et 3| 215,314 38,305 177,009
01 AtR2te|Hl 2,250 22,520 A20,270
OXz2d2d A2 =84 2,250
02 S5=24g4l 213,064 16,785 197,279
O MZEIANA” /X 24| 5,264
-MNE OIA3E 260
40,810,000& *7%+*1/3 953
—-uEsg gyl 37,250,000 *7%*1/3 870
—RFID A 71,600,000 *7%+1/3 1,671
-=SNhSE el 8,700,000& *7%+*1/3 203
—CAUHESHRAIAE
43,120,000 *7%+*1/3 1,007
—FOIHE R AIAE
24,000,000 *7%+*1/3 560
OZFENZ THOIE 2|
60,000,000 * 14 60,000

_3_




o
el
F
0

X0
K

80 o
OH oy

Al o)

R
o O,% NI
nd ol S| o=
Klo q|< AR S 38
® mmlu,mw, Nol
<1< Wm
<
g3 5192
= ~ |~ NN |0
52 == 8 =
I_.A\_ - %_mm
- = (ap) ]55
RS g0 |w S |8
ez 3|8
S S ~
g 8|33 3F|F|3
o g|a|a JIZ|ET g8 88 S ¢
N|lolo |, - 0 v - < m%
< - <2 045_& N © =
.A._ @ — - Al < 0 —
= = Zlgle|s b2 %B8 8 8888
o < 1 i re}
: Slg ¢ —“a@=0 g
) -
Eox o
o = 0 o
5 —
m/\.ﬁ g 58 a0 S g 9 8 —_—
z 8 » & W x5 ol = —
Al mxm_m W o8 3 4.8 4 S % TBEEEERE.
o o) %, m ] ) [ nDMmowju * oY m*g I*qM_.M..M.. oA.
ol tio e TR 8 g 0 s 08 D w oo o®
= o = = g m%mg% 2o s g 8888 8
o+ ok L - S oo _J_m W Mm Te) M,O,O,_b, ]
X |z & T, em M8 o8 e B g
N o = e o = W .
= H - < ):a;l&%ﬂ 0] Eo NI =
(i} byl < ol m=<a < &€ M 20 | = X
ooz ool _dma X W D Al w X - g
oF @ K o | o ® ol Al o ol wm @m g Ur S
N R I T o 885 E w1 3 = 8 |z & s = 4 = u
DN R R A Mmmaﬁw_%@_mﬂ = = = o~ |3 |§a = ¢ 33 W
o R A L AR IR _mz B <l | o i 2 L+ Zm =
I A | L b O | O H0 S0 A > Pm oD k| |F = 70 womm
o O KO NS = o ok X W Mo J |_,_..ﬁ ) ) b U X _ ] nH = H|=l= Hio |_M._ W._ = il
X O |=zlx O Ao =< W o0l ¥ X =< 0 8 U0 ok = || = omK S|z W K o o
217 Alsls © IS LU N mEEE S o aw ™S
il g T |&|[° @) O = RFTAOLF RM= WD wlmld T A < O0H | 7 Q) o = w T D
W g OM O OHM@HEE_A_%@A = Mmowmo
xmmmo %M%%&M%%
K0 QI OO OO




2A:

FRCHB

M ANEHEEAMS 29
Chel: ® 9| m2lst B T4 (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OTAHZ o Zoia o]
450,000 ~4 & 1,800
O&=D| 2elbl 26,0002 +8LH*42 832
O3J1&3&J| 2|l
27,0003~ 16CH =4 1,728
OHIbl 2l 16,0002 11CH+4Z 704
OHMIBE AlE2 FII¢EEH 9]
1,500,000 23] 3,000
OAt24d 0I& OlAL 84 6,000
02 s3=gHl 23,006 69,509 A\46,503
OAlZ &I Xl 17,206
-d=2 =87 A
4,30024+6,901m *1/3 9,892
—JIAEIIAE =87 K]
20,000,000&*1/3 6,667
- 2HEX=E R 23,302,727 & *1% 234
- HEINRF 1,857 %2,000km/9 413
O=s2= & HAl 800
-2 dEall 50,0002 %12 50
— 2SI UHSAHAl 40,0002 = 1CH 40
-24EXE 282 710,000 1CH 710
O&ZIIXt SHAE &X X F=Xjctel =M 5,000
202 04l 1,600 1,900 A300
01 =LHA LI 1,600 1,900 A300
OZcl8 R4 0]
300,000 x22+1,000,000& 1 1,600
401 Al HIZ S 0HHI 213,600 20,000 193,600
01 AlZ8| 213,600 20,000 193,600
O2s g4 g 50,000
Oz M2 stEa = 98,600
OUERA & SESAM 65,000
A0LE SN2 AHIA 75 TI& 133,251 15,600 117,651
201 er2&y| 15,851 5,100 10,751
01 AtR2t2|HI 1,800 1,500 300
OclZ2% HIE 1,000 +1,800% 1,800
02 s3=gHl 14,051 3,600 10,451
OANEEZAM2 RAIEH] 11,651
— ol AIES 97,080,000 8% 7,767
—OI0tEZ i E 97,080, 0002 *8%*50% 3,884
OMIISA K= 200,000 * 122 2,400
401 Al HIZ R 0HHI 97,000 97,000
01 AlZ8| 97,000 97,000
OADIEZ A2t AIE SAHI
5,000,000 14 5,000

_5_




SN BREAB

M ANEHEEAMS 29
Chel: ® 9| m2lst B T4 (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OAIES A2 &bl 2t 9,000
— POIC KIS AI A
90,000,000 1CH 90,000
—VPN 2,000,000 *1CH 2,000
405 KHaHE SH 20,400 10,500 9,900
02 A bl 20,400 10,500 9,900
OLDIERAMZ &N 2
12,0002 %1, 700 20,400
ZollEot=A2 2 270,969 275,549 N4,580
CAZMEIA DIBEES 270,969 275,549 A4,580
SMEs Z2HS 191,250 196,373 N5,123
101 eI24d| 2,3% 2,322 72
M ORNZZ2NSE S 2,3% 2,322 72
OXNZAAREXR QIAHH| (st 2,3%
-Jl== 76,9603 x 1 22 1,694
-m25dsE 76,9602 x1H 55 385
—AXt2 &l 76,9603 181 "
—4dHEE= 2,154,880 *11% 23
201 Ler23 | 91,156 96,451 N5,295
01 At22t2lt] 58,160 63,335 A5, 175
OgRFUE AIRES 78| 2,250
OJIEt+=EHI 1,350
oYY (E4=M S) 1,000
OOt & S22 22X SAHI
550,000 x6H 3,300
O=AN2tE3l &alHI(18) 360
O= A2 ADILE ZAHI 500
OSAaIHHE 7|
1,000 *1,0000HK 1,000
OSAMEIJIIE ZelE8 elE #atl
100,000 52 500
OMsdclE83 7l 8,000
-HIRE, 2tE, SAEFEE S 3,000
—RFID J1H, TAG 5,000
Oo0l2Xt PC 228 FHI(GIEA ) 1,980
O&Fl bl 2,160
—AIR4A ZHEZE &l
315,000 x4 =1CH 1,260
-AE4 ZEH &Y
150,000 *2IH+3CH 900
OdilE =8 500,000 * 122 6,000
O&AXl bl 10,0002 x645+ 122 6,480
ONEg st HAAE RAE4H
33,000,000 *10% 3,300

_6_




SN BREND
M JolisoteA2 2g
SR EAZAEIA JlEtEY (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OCCTV 2teld] 200,000 * 122 2,400
O&alzxd 2l 7,200
O=AD| gitz 1,320
O&==J| 2eld 40,0002 #5CH* 122 2,400
O3JI1E&| 2eltl
30,0002 +8CH =122 2,880
OV AlIE = 35,0002 +0CH~ 122 3,780
2 S3=gHl 32,99 33,116 A120
O M2eIANAE RXI22HI 17,156
— S XIHEILH(2F0I=30H)
48,000,000 *8% 3,840
— S RICHEILE (& 220H)
23,540,000 8% 1,884
-~ ALK& HIATE 2ICI1(9)
24,750,000 8% 1,980
- ADIEZAMH(5MH) 26,950,000 8% 2,1%
- XSS II(3M)
64,000, 0002 *8% 5,120
— SIEDI(1TH) 27,200,000 8% 2,176
OZLHHU AIEZ
1,320,000& «12& 15,840
202 04| 1,500 1,800 A300
01 SLHoIH 1,500 1,800 2300
OSot=A2E 280
300,000 5% 1,500
405 KHoHF S| 96,200 95,800 400
01 ML ESFSHI 1,200 800 400
O&-Vl= &8 300,000 *4CH 1,200
02 =A=EhI 95,000 95,000 0
ATl 95,000
IREMEZOY 29 70,119 67,176 2,943
201 Ler23 | 66,351 63,840 2,511
01 AtR2t2ltl 1,000 1,000 0
OZolotuil 28 MREs 7Y
500,000& <22 1,000
03 A= SHI 65,351 62,840 2,511
OE35t OBt 2d(Bdsts 23t 22,880
—gel 23 TAE
65,0002 x4 212220 6.240
—Ol2l0l 2% ZA==E
35,0003 162 Et*125=+27 | 13,440
—USEY BAE
35,0008 %202]+27| 1,400
—-=g 29=3 728 900,000 *23] 1,800
OHEE =AM3 29 4,900




od
i’
oF
uJ

AR 8818
< | < SRR
2 SIRIE
KIo
E
E=)
818 288
0| SiS|e
™| SIS ESY
LH3r
<l
RIS
S8888B 8 8 2 8 88888 8 88§88 B 88 S 88|38 8 8 218818 8
o) O o O 0o (@) (@) O (@) M~~~ < O < < < O M~ N~ oS AN < S | M~ N~ — O O |O|O©|© (@)
G- =2 K < - & o= = &K - =< < &= = | ) o|lo|les  ©
al
<
=3
3 Bl ol o ™ 0~ 9 Bl o ol 3 K ol o ol ol B0 ol ol
= «Q () o [aN] o - [aNEENeN] = < (ep) o [aN NN © Al —
838 g o g o F @ 5 33 4 - ~ x 7
¥ X OF. s pus 10} = X OF OF ¥ = Ok pus O OF N j. OF.
X g oL o) X oFJ = or 4o
o e X o} KF ~ R e}
¥ 152 8 85858 2z 8 § B8 § 88 %a 5 88 | 23 ¥ =
wgg 8, 8 &8 Epy g RE g 88 Ey o8 BE 585 g g
: 80 g < H o K 5 ©
> =2 OH - N > Q o 5 e
18 g 30 o = ) ) g0 © a_m = = _
< oy 2D @ M 0 s " s & ol
It o T w3 oaw 2 3 X om w8
= @z o3 3 3 o = o oR o =
= R - B U ol <4 A0 ol & oL I & o Hio 80
= H| ur = A = k& @k 30 Mt 80 = I = _ B i &
_ L . o & = H n
o} ol F+ o = <N oh &l ol a Al Ju /11 AT W A ol I wl il
Wﬂ\ t+ 4 - A ._Mn_ KJ 0 t+ < O R0 @ Hio O w0 [ Ko n0 s m:mtm w‘_ w
oz, X0 0w Zedil= 4 oy 5 o wippon wsS |||z 2
3 W g o K S =) ol w3 Hl ____ﬂ A z R x < B =<0 M0 5 ol = |80 |30 _%
= [T W M < W W oW s < T T mHzT X &5 BIHHAENH S [®oylw
X A0 W o) ur ok U I[g] S S 0K o~ <o 8 H <F Ol ur S 80 ~0 I Wizl oD < o fl|ol|=< WO
RO I X0 | | I I I 0 1 1 Ok | I IORC AROoOH 1 I lan |~ OF = ur = |on|®0 O
. O O O O O O —|<s O O W= O
[ o o 1O
X ® o | N
I+ of




SN2
HEot=A2 29
MatAHIA DJIBtES

S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
ONDIE SHBM 2F(SAHBFL, SA2
2 M) 1,800,00021+25 3,600
I E A2 29 265,319 282,811 A17,492
HOH SN SEXH 208,075 217,415 A9,340
24 2HOIHYZ M) 100,517 105,617 /5,100
201 =3 38,017 42,317 4,300
01 At2t2ltl 29,720 34,020 24,300
OgRFIE AIRES 78 2,500
OJIEt+=EHI 1,000
OOt & S22 A SAH|
550,000 x6H 3,300
OENZE3| &3t (25) 500
O=A2 NOILE FAH] 500
OsstsiaE Y|
1,000& 1,0000H 1,000
OSA2YIIE THE 2lE Yl
100,000&*102 1,000
OZge &Y Fdl 200,000 «6H 1,200
O=ASE € 2SS 28| 2,000
OMsdcls8s Fatl 7,000
-HIRE, ctE, TAEFEE S
1,000,000 *42] 4,000
—RFID 21H, TAG 7502 *4,0000H 3,000
OSAPI itz 260,000 * 122 3,120
OdlE bl 10,0003 205122 2,400
O&X <&l 17,5002 x205+ 122 4,200
02 s3=gHl 8,297 8,297 0
OEMZeIAIAY FXI2ell 8,297
~ALKE HATE 2160
15,000, 0002 *8% 1,200
-SNASEEE MHIHUEDI
27,111,000 8% 2,169
— XOtEHE D] 28,000,000 8% 2,240
- X HHILH(FE)
20,400,000 8% 1,632
- CHHUXISHHILH(A2)
13,200, 0002 *8% 1,056
202 04| 1,500 1,800 A300
01 2K 1,500 1,800 A300
OJIHS = A2E HR=T0I
300,000 54 1,500
405 AHaHE S 61,000 61,500 A500
01 AL =S F = 2,000 3,500 1,500
ODVWD & 20,0002 %1008 2,000
02 =M=l 59,000 58,000 1,000




SN BREND
A AIIHITHY 29
el HOH =M BExd (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| O=x=e 59,000
JIHS M2 AlEF A2 107,558 111,798 N4,240
201 eet23| 107,558 111,198 A3,640
01 AtR2t2|HI 25,650 28,590 A2,940
OBAMNE2~ES 78| 315,000 * 12 3,780
O8Il A=z 150,0002 %12 150
O&IIAIE etE2e|d] 300,000 * 122 3,600
OAZAIE et 2] 200,000& * 12 2,400
OsZJl &eldl 150,000& * 12 1,800
O=A2t &9 180,000 « 128 2,160
OCCTV 22|t 230,000 * 122 2,760
OUERZA 2cld| 150,000& « 12& 1,800
ORQUBHIAIAY AIEE
125,000& * 122 1,500
O&=J| &cldl 45,0002 *3CH* 122 1,620
O3JI1EEI| 2ell
35,000 ~8LH* 122 3,360
OHlbl 2teldl 30,000 »2CH =128 720
2 s5=34l 81,908 82,608 AT00
o3 3,000,000& *12& 36,000
Oolr=ERs= 300,000& * 128 3,600
OZDEIHY AIEE 130,000« 12& 1,560
ORER=s 30,0002 12 360
OAgE 2l 50,0002 %12 50
O A =Al228l 12,000
OzxZ& 2yl 6,300
O&II A, SESAIE FXI2el] 4,500
OR&AP 2telt] 700,000 *3CH 2,100
O3J1xst&Hl JI2M=HI 6,688
—AIAENH OEEH JI2 AA
27,0003 220 =23 1,188
—ANAENA JL A=A
250,000 x220H*13] 5,500
O=83 Al 400,000 22 800
O ® 4 & ANEYI
50,0002 *40K 2,000
O3st&a S o1 wHl
100,000 * 16CH 1,600
OZEA HIEAE & 29 JtHE MHYI
7,0003+500m' * 13 3,500
OZ2g4 HE & AUt MEHI
10,0002 +85I1*12] 850
g A2 ST 57,244 65,3% A8,152
SNNE B2 2E 33,076 38,268 A5 192

_10_




od
i’
oF
uJ

=1= N SEE
© | © ol oo
o < [ < — ==
m_w IR <<«
El
E=)
3B AE SEIE
S| S | ==
3|8 I ool o
H3r
uiled
KIS
88 & 23 LT 83 LIILTSIIELTS SIS SIS S8 8 8|le|e elIs818(8 8 S S S8 8
Blm o 8 HBETHnISIRKR=0CIHOSR® 8T8 STNKE KEIFEIES S S & © =
mmrﬁ
<
=
= =@ =®© w©N =@ SO o © < o o KF ® o® ®
& & & DR Y ¥ ¥ ¥ S = P ¥ o) ¥ < e ¥
g g% BL 2% §% g@ g8 % g 5 A
— — X AN — gm ™
5 e e = 2 2 = = . &
. uow, W M 8 m & M M,mm m 30 -
@ F < 0H
W_ﬂ =< ”ﬁ_ O =
~0 = -
< ™ a0 80 M E o
. I 0H H o &0 7 -
= TR a Ko 50 08 iy = %0
ol Wy & g a2 @ gz a% @ WMo x s ¥
= 84 om moyE T (A no A =
3 = % RO % Hio M o Ho % o :31 Ho _m_I_ Ho E=g o
; s i i M < o i w o ow N EAE: 0 o
= Wow o B0 SO 30 T 30 30 o 30 K 0f ol 3 ~
R =3 2 oM 0 WD A0 oM o <d O W A0 OH 20 20 08 & = =z o
R0 = = | | _ rE ) = | ur | = = =) r =
. 2 O O O O O < =0 2 O O
X <
Ik i

"




SN BR
3

=

g RE
Hu: HIIHATHT 2
el ZeRIEAMZ 2SD) (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
R ET R
500,000 52 2,500
—JI8 9 Al 1,000,000 *23] 2,000
-2g=3 7Y 200,000 #32] 600
SARE Z208 29 13,068 14,718 21,650
201 =3 9,900 11,550 1,650
01 At2t2ltl 6,000 7,050 21,080
OSAEE 2ddA R20IE A7
15,00024* 1502 2,250
OSAEIE 2247 12018 TATYY
15,0002 #2502 3,750
03 A= 3,900 4,500 A600
OSAEE 2RUS UM ¢
500,000 32 1,500
OSAHE 28 =35 2|
800,000& *37| 2,400
301 EtE N = 3,168 3,168
14 DBt 2 a3 3,168 3,168
OXESAHAL 2HIE2a=
11,0002 +6 & #8=+2J| BH+3| 3,168
HY2AIHI(EREMR) 268,127 518,508 250,381
= 48,600
& 14,580
Al 204,947
el 2| 127,939 250,218 N122,279
s 48,600
s 14,580
Al 64,759
QIHA2AH(SSEAZ ALY AFXIA(E36)) 127,939 125,109 2,830
[ 48,600
= 14,580
Al 64,759
101 21A4H| 115,260 112,710 2,550
[ 42,300
= 12,690
Al 60,270
03 SRH(RINAHA) 222+ 115,260 112,710 2,550
OFAN2 HEEE 21| 115,260
-Jl== 2,350,000 «3H 122 84,600
[ 42,300
= 12,690
Al 29,610
—=44| 140,000 x3&* 122 5,040
-N2g 155,000& x3&* 123 5,580
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